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(DNERABER—R

MMEMOENL : ~A 7 1 —rUb b /HBH(u Sv/h)

% B M /N i %/J\%B*a ZHT R B =
(RHAR 4-40-1) (BWiA 5-1-19) (ZEH] 3-17-11)
e 0.12
6 7 10 H 0.12
6 7 16 H 0.12 AR AR
6 7 23 H 0.11
THTH 0.12
©6 H 3 Hix# F 50cm. 6 H 10 H+16 H+23 H-7 A 7 B |k 1m THE
MR IR VNGV HHT R 5 [
— (RM4A% 4-40-1) (BiA 5-1-19) (W] 3-17-11)
WEE | BEE | W8 | KE | KRE | B | BHE | BE | 95
1m S5cm 5cm 1m 5cm S5cm Im 5cm 5cm
7H 148 | 0.10 | 0.09 | 0.06
7H22H | 010 | 0.11 | 0.08
7 H 28 H 0.10 | 0.12 RN R I
8H4H 0.09 | 0.09
8H 11 H | 0.09 | 0.09
8418 H | 0.07 | 0.08 0.06 | 0.05 | 0.07 | 0.06 | 0.05 | 0.05
8H26H | 009 | 0.09 0.06 | 0.06 | 0.06 | 0.06 | 0.06 | 0.08
83431 H | 009 | 0.08 0.07 | 0.06 | 0.05 | 0.06 | 0.06 | 0.08
9A8H 0.09 | 0.09 0.06 | 0.05 | 0.05 | 0.07 | 0.06 | 0.07
9H15H | 0.09 | 0.09 0.05 | 0.06 | 0.06 | 0.06 | 0.05 | 0.09
9H22H | 0.09 | 0.09 0.07 | 0.06 | 0.06 | 0.07 | 0.06 | 0.11
9H29H | 010 | 010 | — 0.07 | 0.07 | 0.08 | 0.08 | 0.08 | 0.15
10460 | 010 | 010 | O%¥D | 0.07 | 0.06 | 0.07 | 0.06 | 0.06 | 0.10
10 H 13 H | 0.10 | 0.11 0.07 | 0.07 | 0.06 | 0.07 | 0.07 | 0.12
10 H 20 A | 0.09 | 0.10 0.07 | 0.07 | 0.07 | 0.07 | 0.06 | 0.10
10 H 27 A | 0.09 | 0.10 0.06 | 0.07 | 0.07 | 0.07 | 0.06 | 0.12
11H2H | 0.09 | 0.10 0.07 | 0.06 | 0.06 | 0.06 | 0.06 | 0.12
11 4 10 H | 0.09 | 0.10 0.08 | 0.08 | 0.07 | 0.06 | 0.07 | 0.10
11 4 17 H | 0.09 | 0.10 0.06 | 0.06 | 0.08 | 0.07 | 0.07 | 0.09
11 H 24 H | 0.10 | 0.11 0.06 | 0.06 | 0.07 | 0.07 | 0.06 | 0.10
12H1H | 010 | 0.11 0.06 | 0.06 | 0.07 | 0.07 | 0.06 | 0.12
12H8H | 0.09 | 0.11 0.07 | 0.07 | 0.07 | 0.06 | 0.07 | 0.10
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JHA 7INFERRE /N LT R B
B (R#L4% 4-40-1) (B5A 5-1-19) (T 3-17-11)

wpE | ke | WY | BE | g | B | BE | EHE | W5

1m 5cm | 5cm 1m 5cm 5cm 1m 5cm 5cm
12 H 15 H | 0.09 | 0.11 0.08 0.09 0.08 0.07 0.07 0.09
12 H 20 H | 0.10 | 0.12 0.06 0.06 0.06 0.07 0.07 0.11
12 H27H | 0.09 | 0.11 0.06 0.07 0.07 0.07 0.10
T?:Eﬁ 0.10 | 0.11 0.07 0.07 0.07 0.08 0.09
1H12H 0.10 | 0.11 0.07 0.06 0.06 0.07 0.08
1H19H 0.10 | 0.11 0.07 0.07 0.06 0.07 0.09
1H26H 0.09 | 0.10 0.07 0.08 * 0.07 0.06 0.09
2H2H 0.09 | 0.11 N 0.08 0.08 1) 0.06 0.07 0.08
2H9H 0.09 | 0.10 Cx1) 0.07 0.07 0.07 0.07 0.09
2H 16 H 0.09 | 0.11 0.06 0.06 0.07 0.07 0.08
2 H24H 0.09 | 0.10 0.07 0.07 0.07 0.07 0.08
3H1H 0.09 | 0.09 0.05 0.05 0.06 0.06 0.08
3H8H 0.08 | 0.10 0.07 0.06 0.07 0.06 0.06 0.09
3H 15 H 0.08 | 0.09 0.08 0.07 0.06 0.07 0.07 0.11
3H22H 0.08 | 0.09 0.05 0.06 0.06 0.07 0.07 0.08
3H29H 0.09 | 0.10 0.05 0.05 0.07 0.07 0.06 0.08
4 4 5H 0.09 | 0.09 0.07 0.06 0.05 0.06 0.07 0.09
4 H12H 0.09 | 0.09 0.06 0.06 0.06 0.06 0.06 0.09
4 H19H 0.09 | 0.10 0.06 0.06 0.07 0.06 0.06 0.09
5H1H 0.09 | 0.09 0.08 0.06 0.08 0.07 0.06 0.10
5H 10 H 0.08 | 0.07 0.05 0.04 0.05 0.06 0.06 0.10
5H 17 H 0.08 | 0.09 0.06 0.06 0.06 0.07 0.07 0.10
5H24H 0.07 | 0.07 0.06 0.06 0.06 0.06 0.05 0.08
5H31H 0.07 | 0.09 | ®¥% 0.06 0.06 0.06 0.06 0.05 0.08
6 H7H 0.09 | 0.10 b 0.05 0.05 0.05 0.05 0.06 0.09
6 H14H 0.08 | 0.09 0.05 0.05 0.05 0.06 0.05 0.09
6 H21H 0.07 | 0.08 0.06 0.05 0.05 0.06 0.05 0.08
6 H 28 H 0.07 | 0.08 0.06 0.06 0.05 0.06 0.06 0.09
(7;2)5 : 0.07 | 0.07 0.05 0.05 0.05 0.05 0.05 0.07
7H 13 H 0.07 | 0.06 0.04 0.04 0.05 0.05 0.05 0.05
7H 19 H 0.06 | 0.07 0.05 0.05 0.05 0.05 0.05 0.06
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AN U2 v ZEHT IR

. (UM AE 4-40-1) (B5A 5-1-19) (FEHT 3-17-11)
WEE | BBE | W% | BE | KRE | B | BHiE | BE | 95
1m 5cm | Scm 1m 5cm 5cm 1m 5cm 5cm

(7;3)26 . 0.07 | 0.07 0.04 | 0.04 | 0.05 | 0.05 | 0.05 | 0.06
8H2H 0.06 | 0.06 0.04 | 0.04 | 0.04 | 0.05 | 0.04 | 0.05
8 H10 H 0.07 | 0.09 | %% | 0.04 | 0.05 | 0.04 | 0.04 | 0.04 | 0.05
8 H17H 0.08 | 0.08 L 0.05 | 0.05 | 0.04 | 0.04 | 0.04 | 0.07
8 A 23 H 0.08 | 0.08 0.04 | 0.04 | 0.04 | 0.05 | 0.05 | 0.06
8 H31H 0.07 | 0.08 0.06 | 0.06 | 0.04 | 0.05 | 0.05 | 0.08
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HARES — /N Eihi%4-28-1 (6 H13HU)|  FRT9MF 0.10 £V
Rl /N7 RIRf 2-6-3 14 HCK) | “Fhi 9 I 0.08 |&Y
BriA 22 BriA 4-5-1 15 ACK) | ‘PRl 9 Iy 0.10 [£&VY
ST IR A [ T 3-17-11 19 A(R)|  “FAT9 Ky 0.07 |&Y
BiA S R A BiiA 5-1-3 19 H(H)| F# 2k 0.05 |&Y
TR AR AR HA1-1-1 21 HCKR) | AT 9 Iy 0.09 |&Y
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() ZRNERR—E
7TH12H8 (k) HIE

SMEEDOEAL : ~A 7 0 —~UL b EER (1 Sv/h)

) i 52 B L
I AE M FHEH E s | e | wy | 5
1m 5 cm 5 cm
/N BiiA 5-1-19 9mE 204y | 0.07 | 0.06 | 0.06
BiA L IR B Bi5A 5-1-3 9KE504%r | 0.06 | 0.06 | 0.21
A L5 HE [ BiA 4-11-1 105047 | 0.07 | 0.06 | 0.07 | FLSr
BiA 224 BiiA 4-5-1 1185204y | 0.05 | 0.06 | 0.08
BiALE (B BiiA 2-2-3 12504y | 0.08 | 0.08 | 0.09
BRjIA /INFAR BiA 3-13-1 1485004y | 0.09 | 0.11 | 0.08
BiA S — (R B BiA 7-7-22 145404y | 0.06 | 0.06 | 0.16
i B /NFRE TG 5-33-1 15 #3074 | 0.08 | 0.09 | 0.07
CHNE RGNSV E G 5-22-1 16 #1074y | 0.07 | 0.08 | 0.08
TA13H (k) #HIE
\ M
i iR pie | A ij EL; o5 s
1m 5 cm 5 cm
PR R ST 3-17-11 9HF204y | 0.07 | 0.07 | 0.09
T RN TH. 3-33-5 10 00 %y | 0.07 | 0.07 | 0.06
TRFELCOFEMRE TFH 3-37-14 | 10304y | 0.04 | 0.06 | 0.06 | FLir
B A% Rl 5-31-29 | 11%£ 004y | 0.06 | 0.06 | 0.05
SXVANE 5% Flfy 6-16-1 13#5 304y | 0.08 | 0.07 | 0.06
A R I 55— R B 1= A I 5-23-7 | 14 K204y | 0.05 | 0.06 | 0.08
BOFHRER KEECK | MRk 5-29-10 | 15FF 0047 | — 0.06 — FLST
Tl ) HE [ Folfy 4-36-1 15 %5404y | 0.07 | 0.08 | 0.07 | FA5r
X EEECRME 2N DB 1 A ET CHIE
TH14H (K) HzE
: W
I i Yﬁ”gijﬁﬁé T ;;1; o | s
1m 5 cm 5 cm
BRSSE— IR B = HHE 3-15-20 8HE 504y | 0.06 | 0.05 | 0.08
THER/ N BRES 3-14-1 9HF 204y | 0.07 | 0.07 | 0.04
VNG IR B PESAS 1-1-13 | 10K 004y | 0.06 | 0.06 | 0.05
PAEIESS R EREES | LK 3-12-12 | 111047 | 0.06 | 0.05 — Eii%
P8BS A% FRKER 3-18-1 | 18KE 504y | 0.07 | 0.05 | 0.05
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HIEBR 4R

T it 3¢ FITAE H1 P PR | RipEss HhE: e
1m 5 cm 5 cm
KB RE R BRI 2-36-3 | 14153043y | 0.05 | 0.06 | 0.07
BLHE/N2AE B R 1-24-10 | 158104y | 0.08 | 0.08 | 0.06
FHELRE R BRI 1-10-3 | 1588404y | 0.06 | 0.07 | 0.09 | FASE
TA15 H (&) HIE
. I EfE
U _ HIE B 4A
PEREE PrEM: e | s | s | g | S
1m 5 cm 5 cm
A AR SHHERR F7 1-8-1 9104y | 0.07 | 0.07 | 0.08 | FL°T
8y RANEY I 2-6-3 9WE 504y | 0.07 | 0.06 | 0.05
R~ FWg 3-7-7 10304 | 0.05 | 0.06 | 0.08
HEABTOEDOVIEERE | EMEIK 3-35-8 | 11104 | 0.05 | 0.05 | 0.05 | FLAS.
R A E R FiEI% 2-3-21 | 137004y | 0.06 | 0.06 | 0.06
[T A VANE ¥ i FiEIE 1-10-5 | 13FF 304> | 0.06 | 0.06 | 0.05
P e I Sy [ FRIR 4-12-7 | 14204y | 0.05 | 0.05 | 0.05
MEAL W] /NS4 IR 4-30-5 | 1585004y | 0.07 | 0.06 | 0.05
7TH19H (k) #HIE
X ] E A
S s = HIE Bi4E
R fit % FTAE M ] Wi | bepess | b e
1m 5 cm 5 cm
S S ] HARE 4-16-5 13004 | 0.08 | 0.08 | 0.09 | FL %
7TH20H (K) BIE
; I EE
S s = HIE BR 4R
R fith % FTAE M ] Wi | bepess | b 5%
1m 5 cm 5 cm
B SR w7 S FIf 1-28-22 10M 3074y | 0.07 | 0.07 | 0.08 | FASZ
PEhAS S AR E PEHhAS 4-22-18 | 11004y | 0.07 | 0.08 | 0.08
HAS TR = /NFAR PEhAY 3-14-3 | 11853045 | 0.09 | 0.09 | 0.08
Po AR TP HH 5-24-12 12104y | 0.07 | 0.07 | 0.07
7TH21H (R) #HlE
. I EfE
T _ HIE BR4A "
TR XE fii % FITAE M 2 wepEss | meppst i 5
1m 5 cm 5 cm
WA AT M4 3-26-22 9104y | 0.07 | 0.06 | 0.07
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o ~ ) E B A ”
T fi % FTTEH! B s | mepEss | e eSS
1m 5 cm 5 cm
ARSI HE ] A% 3-30-22 9K 404y | 0.06 | 0.07 | 0.08
7]y 1H
AT N[ A4S 3-29-4 10004y | 0.07 | 0.07 — z f
AR = R E R 1% 3-58-15 | 10KF 304y | 0.07 | 0.08 | 0.07 {i@
WS — R E = A4S 2-60-19 | 1150043 | 0.07 | 0.07 | 0.12
WSS —RE HMA¥ 2-34-1 | 11HF 404 | 0.09 | 0.09 | 0.13
BRR/ N b4 1-18-24 | 13KF 504y | 0.10 | 0.11 | 0.09
[EEipaLiHE PABLNG 2-14-11 | 14 K5 3043 | 0.09 | 0.10 | 0.09
7TH22H (&) HIE
. HIEfE
NI — HIE B 4A
T fi T Hi ] wepEss | mepEss | mhig {5
1m 5 cm 5 cm
H F S H A 2-38-4 9104y | 0.06 | 0.06 | 0.07 | FASE
JAT S HE ] H A 2-20-24 9404y | 0.08 | 0.09 | 0.08 | FASE
HAS REEH H [ 2-39-9 10 104y | 0.07 | 0.06 | 0.11
H /AR HE2-11-6 10504y | 0.09 | 0.09 | 0.11
LS HEE HH 576 13204y | 0.06 | 0.07 | 0.09 | FLSZ
HAFE—IRER HH 5-18-2 14004 | 0.05 | 0.06 | 0.13
LA %) HE R HH 3-17-11 14 £ 40 4> | 0.07 | 0.06 | 0.08 | FASE
BV EHAE Panag 2-14-2 | 158104y | 0.09 | 0.09 | 0.10
FEMASZ L WAREE | A4 2-25-20 | 151404 | 0.06 | 0.08 | 0.10 | FAS7
7H 258 (B) BAlE
. I EE
S ~ W E B4k
) E i 5% FAE M 4 W | pepess | phi e
1m 5 cm 5 cm
MUEST VAN 2 3 MEISART 1-43-1 | 9HF304y | 0.09 | 0.09 | 0.08
A A MASAHRT 4-5-24 | 10204y | 0.06 | 0.07 | 0.05
XL HEE] HASART 4-4-11 | 118104y | 0.05 0.05 | 0.09 | FLST
e
AR AT /A WASART 1-27-1 | 11 M504y | 0.06 0.05 — zf
FNT
BD Y RFE MASAHT 3-29-9 | 13 £ 304y | 0.07 | 0.08 — W
L

_31_




Sl e TR A
R i e N s [wws | o | 0%
1m 5 cm 5 cm
SCRSINFARE HASAHT 4-36-1 | 14 KF 1043 | 0.08 | 0.06 | 0.05
AR IR E [ HASANT 3-4-5 | 14 ¥ 504 | 0.06 | 0.06 | 0.10
AR NFAR 4% 4-23-8 158404y | 0.09 | 0.08 | 0.06
AR NS T S HE [ A 4-2-10 16 FF2043 | 0.05 | 0.05 | 0.07 | FAAE
7TH26 8 (k) HIE
: W i
B i pie | R s {if;; o | s
1m 5 cm 5 cm
P A/ VAR P4 3-18-12 | 9WF204r | 0.07 | 0.06 | 0.05
R R B A HEE | A 3-4-5 | 10#F 104y | 0.06 | 0.06 | 0.07 | FASZ
[ & < HIREE i 3-7-8 | 10#£ 404y | 0.06 | 0.06 | 0.05 | FLir
S B S HE HH1-5-1 1185304y | 0.06 | 0.06 | 0.06 | FLNT
e P R miH 1-24-14 | 13§ 404y | 0.07 | 0.09 | 0.07
e P /N mH 2-12-7 1485104y | 0.09 | 0.08 | 0.07
TR AR AR HHE1-1-1 1585004y | 0.07 | 0.07 | 0.06
TH27TH (K) #IE
: W A
U i pres | O {if;; oE | s
1m 5 cm 5 cm
MUY g FS ST 4% 3-39-11 | 9WF2043 | 0.08 | 0.07 | 0.09
HAREE — /N k4% 4-28-1 | 10K 0043 | 0.07 | 0.06 | 0.10
D < R E HMASANT 4-1-14 | 10 R£ 4043 | 0.06 | 0.07 | 0.11 | FASr
MASABTIERREAT | MSARRT 1-41-6 | 11 #5404y | 0.07 | 0.06 | 0.06
HER AR B MERINAR 1-22-5 | 1285047 | 0.07 | 0.05 | 0.04
HE =] 23 S HE [ MR AR 1-25-1 | 1388204y | 0.05 | 0.06 | 0.05 | FANT
TA28H (k) #IE
: W i
W pie | e i iz; o | s
1m 5 cm 5 cm
BB A% PEHEG 3-17-1 | 10KF 004y | 0.07 | 0.06 | 0.08
i UEYINE 225 PEELES 1-27-1 | 10 %504 | 0.09 | 0.10 | 0.10
T s 1-9-21 13F£ 004y | 0.07 | 0.07 | 0.06
Eis— T B IR | Sk 1-6-5 138504y | 0.06 | 0.06 | 0.06
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IE G Al
o=l = N s
BT i Ex FITAE ] Rt | wepess | mbip i
1m 5 cm 5 cm
BN AR B =R 1-7-13 14 2043 | 0.07 0.06 | 0.07
FLNT
BT S HE R BEMT 1-43-15 158004 | 0.06 | 0.05 — e
7L
N NS =R 2-57-22 1513043 | 0.05 0.06 | 0.05
7TH29H (&) #HIE
. I E e
SNSRI . HIE B AR
I E g% FITAE 2 Bt | bepess | mip B
1m 5 cm 5 cm
B SO HER = 3-6-7 9104y | 0.09 | 0.09 | 0.09 | FA~T
R — IR E E = 3-10-7 9404y | 0.08 | 0.07 | 0.09
VNS BEHT 2-3-20 10 104y | 0.07 | 0.06 | 0.10
LW O FERFH FH 1-31-5 10 B 40 43 | 0.07 0.06 | 0.12 | FASE
(%4 ) O e e 89 Jiti
WEHRAIE (—R - =ZR) 2k OF IR KZMNE R 75 gk
s — o —E 5 RE
- fEdx | K& | Ik | | B | KR | Sk | B | B
RBEFT 25 3 — 1 1 22 —
= S 3 1 — 1 1 2 —
- INFRR 23 3 3 2 3 20 19
on | PR 8 2 2 2 2 6 6
T AEE 5 5 — 1 0 0 —
/N 64 14 5 7 7 50 25
iA 0 9 9
3| SR 16 16
i B
%& /J\ﬁ 25 25
[&%5]
ZRAIER., BMNERRESRDREE SREEOWAT © = A 2 8 —~UL /B Sv/h)
I E B
) E e FITAE HIE B Rt | Aot | phi 5
1m 5 cm 5 cm
R TR g i py
i o e e 72 i 380 8H9H 0.07 | 0.07 | 0.06
BT EEYEY 4 — | TR 4-6-14 8H10H | 0.06 | 0.06 | 0.09
W EbRETEr s — | EMii¥2-35-22 | 8 H 10 H | 0.07 0.06 0.07
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(8%6]
Z R TE DR FIHE & ZRKIE - B/ME—T

HEMWE (A 78 —~Yb b /W) .
Wt | Rmmh | RESME | UL e
1m 5 cm 5 cm LB
B a2 0.070 0.071 0.085 o1
BKME - F/ME | 0.09 | 0.05 | 0.11 | 0.05 | 0.21 | 0.04
H g b e - %) 0.073 0.074 0.085 o
HRAE - He/ME | 0.10 | 0.05 | 0.12 | 0.05 | 0.13 | 0.05
Hh o g B S 0.068 0.068 0.074 17
KA - FesME | 0.09 | 0.05 | 0.09 | 0.05 | 0.13 | 0.04
PE T HUIBE 1) 0.064 0.063 0.069 o
BORAE - F/ME | 0.09 | 0.04 | 0.09 | 0.05 | 0.12 | 0.05
A HIIE T2 0.069 0.069 0.078 -
eRAE - Fe/ME | 0.10 | 0.04 | 0.12 | 0.05 | 0.21 | 0.04
“RAFEDMERERNTEYE L ZKE - R/IME—K
BEME (A 27 8v—L EEH) Bl
) E R PepEssEm | RopEs b W5 b B,M%z
Im 5 cm 5 cm
XN INFREEY) 0.079 0.078 0.069 -
KA - F/ME | 0.10 | 0.05 | 0.12 | 0.06 | 0.11 | 0.04
XL H R 0.065 0.064 0.063
HRfE - H/ME | 0.07 | 0.05 | 0.07 | 0.05 | 0.08 | 0.05 8
S R - 0.066 0.067 0.076 .
KA - F/ME | 0.09 | 0.05 | 0.10 | 0.05 | 0.09 | 0.05
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2 | HGEEER 0.10 0.16
3 | C MR 0.12 0.17
4 | B T EER 0.13 0.15
5 | HkEHA OPEKTE 0.10 0.13
6 | FRkE 0.10 0.12
7 | Wi — 0.10
8 | BRFEATHEIA 0.10 0.13
@ [ME/IE% BA5—1—19)] AEBR: 1A11H (k)
e = BIEE
No. = #ht 1m | thE 5cm s
1| Abdef] 0.09 0.12
2 | HiEE v AR 0.09 0.14
3 | 14 1 fai e 0.09 0.10
4 | B ZBARTHEAK E 3 0.09 0.10
5 | RESERIHIKET 0.11 0.12
6 | B TE HI N O RIS 0.11 0.18
7 | FELAX Y T EIMANE 0.08 0.11
8 | B A AT HMIEEAK £ 0.08 0.08
9 | B AERTPEMIBPEAK F S 0.09 0.10
10 | 7 —/VHIEIA R 0.08 0.13
@ [EM/ER (BE3I—14—1)) HAEB: 18118 0K
e 42 = BITEE
No. B EZFr WEin | LS5 o w5
1 | = kPR 0.06 0.07
2 | BEEPE AR E T 0.11 0.12
3 | Wi — 0.06
4 | KR R R A R 0.10 0.12
5 |iEREAR 0.11 0.14
6 |vA =755 0.09 0.12
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S BIEE
No. BT SZFT WEin | L5 o w&
7| R R 0.09 0.08
8 | AKHAF g 0.09 0.10
9 | BlEE 0.11 0.11
10 | BB =EHA DR EE 0.11 0.12
@ [EAR/MF# (BE5-33—-1)] HBEB: 18178 (N
e 4 = BITEE
No. BT SZPT WEin | ®ESem 5
1 |31 AFEOREEKRES 0.10 0.13
2 |51 ABE A AT 0.09 0.10
3 | 5 2 Hke O AT E 0.11 0.14
4 | FEHLA®y THIKE 0.11 0.13
5 | 7= L BEBRIRE 0.11 0.14
6 ==k o] fit 7 R 0.10 0.12
® [FHEmE/NE (FHEB1-27-1)] HFEB: 1H18H (K)
S I B
No. B TEZFT WL i | 3L 5em IS
1| BREHR R 0.13 0.14
2 | —HmHEESMPEKRE T 0.11 0.12
3 | BT R 0.10 0.19
4 |PEET U FLWOKRIE 0.10 0.13
5 | — 0.13
6 | etk 0.10 0.10
7 | 9 S E/NEAM 0.09 0.10
8 |4 =7 0.08 0.10
9 | F—nY A KM 0.08 0.10
10 [~FT~<#MT 0.08 0.10
® [EmE/N2ER (EXIF1-24—10)] BIFEH: 1H25H (K)
e 1 = I B
No. B E ZFr WEin | #E5em =5
1 | BESHES Y7 7 ORI 0.09 0.10
2 | IEPHRATRE 0.08 0.08
3 [LEADRR I 0.09 0.12
4 | KH 0.08 0.08
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S BIEE
o L i WLin |®Lsm| T
5 | Ak 0.08 0.07
6 |IKFEABED A0 —TRAKET 0.09 0.19
7 | B X EHRT 0.11 0.12
8 | CHl=E _EALMIFRAHEAK D 0.06 0.19
9 | =t A NIRVEWSGAL 0.07 0.08
@ [Eri/hstk (L 1—-18—24)] HIEH: 18248 (N
e BIEE
o b2 WErin |®Lsm| T
1| AL D B A D AR T 0.09 0.14
2 | EPYRIHE 0.09 0.10
3 | R dblm 0.07 0.08
4 | XY 3 o HEES AT 0.09 0.07
5 | ZEREATME 0.08 0.07
6 | RL/ER 0.09 0.09
7 | MLETRNKRE S 0.11 0.09
8 | IpEH I 0.14 0.15
9 | B ZERT~ A — LR 0.13 0.14
10 | A O RTRNKRE T 0.12 0.09
thid g —/NERk (Bt 4-28-1)] BIEBH: 1A31H (X)
e 42 = I B
o bt Wrin |®Lsm| T
1| BoE=sailg 0.08 0.08
2 | E2ABEORIRAKET 0.08 0.07
3 | XIE=ERIEE 0.08 0.07
4 | FEHLAX Y T LB 0.09 0.09
5 |®iEmfle ~ 7 YR 0.08 0.08
6 | i — 0.09
7 | #EET 0.08 0.09
8 | B4t 2 BEE EAufgEAK D 0.07 0.09
9 | A4 MR AR gk O 0.06 0.15
10 | B& 5 B E EAuflf gtk n 0.05 0.11
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© [RRANMER (Rt 4-40—1)]

BlEEH: 1H248 ()

1 = BIEE
No. BT ZPT WL im | 3L 5em 5
1 [ IEMHEA R R 0.09 0.10
2 | AEY T ILIL—AHIRAKET 0.10 0.09
3 | BEt 0.11 0.13
4 | 7 —)VHl 3 A HTEE 0.08 0.07
5 | MEMERTWVD X 9 OARIRIT 0.07 0.08
6 | AR — BRI 0.09 0.09
7 | BV HERTEA 0.09 0.08
8 | HME _ERRAHEAK N 0.06 0.08
[Faithi&/ et (REthse 3-18-12))] HIER : 2H21H ()
1 = BITEE
No. BT S PT WL im | H.L 5 om iwE
1| BREEHR R 0.08 0.09
2 | M 0.08 0.10
3 | 9 I E/NERI 0.10 0.12
4 | WY — 0.06
5 |EA =TTy RTvx 0.09 0.08
6 | BREEHRM(CT — L) 0.10 0.11
7 | RIEFEN R EAE ) 0.10 0.16
8 | RE=ERNAK 0.10 0.13
9 |vmTF ok 0.10 0.12
10 [1EM 0.11 0.16
@ hERE=/28 (FEhE3-14-3)] HFER: 2H8H (K)
1 = BITEE
No. B E ZFr WL im | #E5em =5
1| REEf 0.13 0.14
2 | EFEANAKET 0.12 0.11
3 | EmXEAT 0.13 0.15
4 | W — 0.12
5 | Tkl 24 0.09 0.09
6 | IEMlY 2 T OAREIC 0.10 0.11
7 | YA REA 0.07 0.08
8 | B EZHu 0.09 0.10
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S BIEE
o L i WLin |®Lsm| T
9 | & EAufl gk 0 0.06 0.08
10 | B EFRMAEAAEGRE & 0.07 0.08
@ /g (h4-23-8)] BIEBH: 2A16H (K)
e 4 = BITEE
o g i WLin |®Lsm| T
1| ARG r RS A o 0.08 0.07
2 | WHER— VBRI TE 0.12 0.13
3 | BOET 0.12 0.14
4 | 9 S E/NEATENE 0.11 0.11
5 | BRE VG R A A H o 0.08 0.08
6 | BEEILVEARE E VAT 0.09 0.11
7| REEALRAEK O 1% 0.08 0.10
8 | BISEE EnbA AN AT 0.09 0.16
9 | F—H A KA 0.05 0.05
10 | & kBl dedkkn 0.06 0.07
® hRE— /2R GhiSKET 1-43-1)]  BIEB : 2818 (k)
e = BITEE
o L WLin |®Lsm| T
1 | oo 0.08 0.08
2 | PrREEEERT 0.10 0.11
3 | REEERTSE ST 0.09 0.09
4 | fABE/NEREMAD X 0.09 0.10
5 | 7= HAY ORTE <~ T ¥ AR 0.09 0.09
6 |RKBEREMEHEMANE N 0.09 0.15
7 | KEREMEEARE W 0.09 0.13
8 | AEJLFE AR EW 0.09 0.11
9 | 34 0.07 0.07
10 | KHEFR 0.09 0.09
A [XR/MNER (GhiRAHET 4-36-1))] BIFEH: 1 A3 1H (N
e 42 = I B
No. Pz e bk 1m | #E 5cm B
1 [ AePasRMY 7 48t 0.09 0.09
IRME=ERTRNK E T 0.10 0.13
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S BIEE
No. oo e #hk 1m | #E 5cm L
3 | AR — B EAE 0.10 0.12
4 | SR ORTRRAKE T 0.10 0.11
5 | Mot 0.08 0.08
6 | H=MaT 0.10 0.12
7 | W — 0.09
8 | 24 1 fHATHIE 0.11 0.12
9 | 24F 2 HLATHEIA 0.09 0.08
1 0 | MR SR Y27 Z Rt 0.08 0.09
® [Er/IhER (FH2-12-7)] BEB: 2A158 (K)
e = BITEE
No. = #ht 1m | thE 5cm s
1| AKRER AR ER 2 A1) 0.10 0.14
2 | B XEIRT 0.11 0.14
3 | TAVTF v AN—AHig 0.11 0.14
4 | IEMRIANE 0.09 0.08
5 | RH A E L 0.11 0.12
6 | SIS R 0.09 0.11
7 | W — 0.08
8 | ERFHUE( = ATHIA 0.10 0.09
[BEA/NMER (HA2-11-6))] BlEBH: 2A218 (X)
1 = BIEE
o L L WLin |®Lsm|
1 | B T7FVAFIRIT 0.09 0.08
2 | BEARRAL 0.10 0.11
3 | Yoo 0.11 0.10
4 | WYRENK £ 0.12 0.12
5 | F—AHMNAKET 0.11 0.09
6 | = EdddEkn 0.06 0.10
@ [EXR&E/MEH% (EEB1-10-5)] BFEA: 28148 (K)
e 42 = I B
o L i WEin |BEsam| T
1| EEFATRE 0.07 0.07
Mo fx 0.07 0.07
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1 = B B
No. BT 5P WEin | L5 o S
3 | KkH 0.08 0.08
4 | FEHLRAF Y THIEE DK 0.10 0.12
5 |5 — 0.10
6 | WA —LERTE LI 0.10 0.12
7 |EfMLr—L 0.09 0.09
8 | ZM ok 0.07 0.07
9 | =Y A REFHIHF 0.05 0.06
1 0 | a8 == AR AS A o o 0.09 0.10

[HLET/NER (ARG 4-30-5)) BIEH: 3813H ()

e 1 = BITEE
No. LB #ht 1m | thE 5cm L
1 |10 BEY Y ~ A 4l 0.06 0.06
2 | AKH 0.06 0.06
3 | W — 0.08
4 | FEBLAX Y FLEEFTRAKE T 0.10 0.10
5 | PrReEERFIHTE 0.10 0.09
6 | FEHARXy THIHALEE 0.07 0.07

[Rs/NER (RIE2-6-3)] BIEA: 28148 (X

i 1 = AIEE
No. B 5 WE T | BESem e
1 | B 0.07 0.08
2 | Wik B =R 0.09 0.09
3 | FAHATARE 0.09 0.10
4 | HAIFH R 0.08 0.12
5 | FHREMT 0.08 0.08
6 | FALAEHE 0.07 0.06
7 | EEMRTHE 0.08 0.09
8 | B RAufrhde gk b 0.04 0.05

@ (< 5/ (BB 6-16-1)] RBIEH: 3878 (K)

_ JAIEE
No. BIE ISR
’ = WLl [®isam| 77

1 | 7 — U8 H P 0.09 0.07
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1 = B B
No. BT 5P WEin | L5 o S
2 | B AR 0.07 0.07
3 | BMEADBRAKES 0.09 0.11
4 | 14 2 fAaNE 0.11 0.15
5 | W E - O R 0.09 0.12
6 | AEIEF=EREE 0.09 0.09
7| RUVE AR O K E S 0.08 0.10
8 | Wi — 0.11
2) [FR/MER (FR3-33-5)) BIFEH: 28288 (X)
1 = BT B
No. BITE 5P WL i | 3L 5em 5
1| EFETERE 0.10 0.10
2 | 1Eim X B AR 0.09 0.16
3 | 9ATWF 0.13 0.16
4 | BT AR BRI 0.07 0.09
5 |Mofx 0.08 0.11
6 | IEFTAETHE 0.10 0.15
7 | I VRIESE R 0.08 0.09
8 | HH =AM 0.11 0.16
(22 B34k (ERT2-3-20)] BIEB: 2828H (K)
i 1 = AIERE
No. B TE S WE T | BESem -
1| EFE=EACMREDA 2~ 0.08 0.08
2 | IEM AT 0.08 0.09
3 | X TE=RINAKRES 0.10 0.11
4 | N 3 —LHIA T 3 U DOARIBIT 0.08 0.09
5 |2 &k L— AwiiiE 0.09 0.10
6 |FEMEY 2 7 OARRT 0.08 0.09
7| L 0.07 0.08
@) (BN (§¥2-57-22)] BIEBH: 28228 (K)
1 = BIE &
No. I TE 5 WL | HE5em wE
1 | TALVF v 7 ¥ A YA 0.07 0.09
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A7 fE

No. B TE 5P WL im | HE5om -
2 |HAZE 0.08 0.09
3 | EHENESEOWMT 0.08 0.10
4 | EAIRYGH % 0.09 0.10
5 | 7 LRI A 0.09 0.12
6 | Wi — 0.06
7 | WEERIKRAY 0.08 0.08

BIS =B CORIRE

X

500
b, WS

KBPIMETTODEIE
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<HEE> B : v/ O—~)L b /B

@ [Bpiddh=4 (A 4—5—1)] BIEB: 1A10H (X)

R I B
No. B E 5P WEim | 8L 5o =
1| MRk 0.10 0.11
2 | B ZPERTEKRET 0.09 0.10
3 | BEREEGATANE 0.09 0.13
4 | EBEEEHA DRI W 0.09 0.11
5 | HEBEANAKES 0.08 0.11
6 | — 0.15
7 | WEREIART 0.10 0.12

@ [Eredthsss (FmEE3I—1T-1)] HFEBH: 18178 (k)

N BITEE
o o i ®Lin |®Lsm| T
1| EMETY 7 Z4R5 0.09 0.11
2 | HIAL BRI 0.08 0.10
3 | EHR 0.09 0.09
4 | W — 0.09
5 | 1k Z BRI 0.10 0.13
6 | ZAEGRINE W 0.10 0.15
7| HRREf R 0.10 0.09

@ [FEEEEGFER (AXIZE3I—-18—1)] HEBAH: 1A258 (K)

e 12 = BIEE
No. /,E\I]}Eiﬁ':ﬁ' i‘|‘|_1,J: m i‘H_“,J: 5 em ﬁ%%
1| H-B O R 0.09 0.11
2 | IR — L EREAE 0.10 0.18
3 | &= 0.10 0.11
4 | 77— /VIIAOHTRNAKE S 0.09 0.10
5 | AR A A 0.10 0.10
6 | REMIHA TR T OARIE 0.09 0.09
7 | KEREREL 0.13 0.22
8 | FIERERIANE 0.10 0.10
9 | EF=EnifbE 0.09 0.12
10 | 1Efm%B A S EES AR KK D 0.09 0.22
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@ [th¥ch=eiR GthSEARHET 4-5-24)]

AEB:2A18 0K

1 = BIEE
No. BhE #ht1m | #E 5cm e
1 | Effe~ 7 v AFIRIC 0.08 0.09
2 | EFEARAET 0.08 0.09
3 | AR ELALAY 7 T ORI 0.08 0.10
4 | & RO DR 0.09 0.13
5 | PTAZERNEW 0.09 0.15
6 | FORFEEB AT &V 0.09 0.14
7 | 7 — VRN R 0.11 0.17
8 | Wi — 0.06
9 | EEHR 0.09 0.07
10 | (KB EERTARE 0.10 0.10
G [FEHEBEPZHR (BA1-1-1)] AlEB: 28158 (K)
N BITEE
o il ®Lin |®Lsm| T
1| FEErE 0.07 0.07
2 | IREEACE A 0.07 0.12
3 | F PR 0.10 0.11
4 | BREF R 0.07 0.07
5 | FAEMATRAKE T 0.08 0.07
6 | B4 b= 0.08 0.11
7 | KH 0.07 0.07
8 | Mk 0.07 0.09
® [FEhEhzk (BH5-24-12)] BIFEBR: 2H8H (K)
42 = I B
No. B TE 5 AR WE im | L5 om S
1 | EEHACRIRAKET 0.07 0.07
2 | kB =g 0.09 0.08
3 | KB ADIEFET 0.06 0.10
4 | BP9 0.07 0.11
5 | W — 0.07
6 | BHERE A A 0.09 0.09
7 | FE R 0.09 0.09

_56_




@ [BAZFER (RIF 5-31-29)]

BlIER : 3878 (UK)

1 = BIEE
No. I 7E 5 A WL i | 3L 5em #&
1 [ 1= NI ARKET L 0.05 0.06
2 | B LEAEE 0.07 0.09
3 | = EEfgEK D 0.06 0.09
4 | B ERMT =P A R 0.05 0.05
5 | 77 FHA D@ PEKE 0.08 0.10
6 | Va1l 0.10 0.19
7 | AIKE R 0.09 0.10
8 | KIEEEE B AL 0.12 0.18
9 | RNy Xy FELWVWOAKTF 0.15 0.24 *
10 | BWEmEY > 1—a— L& 0.10 0.13

[(Fhh2 (& 1-9-21)]

K FRYLESEE N

3H8H (R) Itz 3~5cm @+ (4.0 i) Z#fREL., BEMTHED

VB2 % Ehi
PRyue I EfE #E 1m  0.13

HES5em 0.16

BlEHR: 2H228 (K)

1 = I B
No. BITE 5P WL i | HE5em HE
1 | 1EfM 0.08 0.08
2 | M 0.08 0.09
3 | EMRT LD 9 fir 0.09 0.11
4 | RO 0.09 0.08
5 | REE=ERTEE 0.08 0.08
6 | R KBERTLE  DARRIT 0.08 0.07
7| I LB RN 0.09 0.08
8 | EH 0.08 0.09
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[ﬁ]iﬁ]

<HEE> B : v/ O—~)L b /B

1. XiL
@ [FEEBLYHHE (FHEE2—14—11)) BFEBH: 1H188 (K)
R I B
o il ®Erin |®Lsm| T
1| AbAHEsE 0.09 0.10
2 | W — 0.10
3 | "—T7H 0.10 0.19
4 | V7T OKRRT 0.08 0.09
5 |4 b= 0.10 0.10
6 | BEE TR 0.11 0.14
7 | ERERRIANE 0.10 0.11
@ [hsgh##E (Gt 3-30-22)] HEB: 2A16H (K)
1 = BITEE
o ps il ®Lin [mEsm| T
1 |5 — 0.09
2 | EEH 0.07 0.08
3 | ERAIEETRNKET 0.08 0.07
4 | JE AR A 0.08 0.07
5 | FkE=ERmH 0.08 0.08
@ [EREBEHHE (BRIK4-12-7)] BIFEH: 38138 (N)
4 = BIEE
o L2 WLin |®Lsm| T
1 | Y=V 7 IoRMRE 0.06 0.08
2 | Wi — 0.09
3 | KE (W) 0.08 0.08
4 | EIHrDOARBIT 0.07 0.09
5 | KE BV HERD) 0.09 0.08
6 | Z<E7 77 0.08 0.08
7 | &< DAAATERE 0.08 0.08
8 | (Yy VY LH) 0.06 0.09
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2. Fh3I
D [LHLHHE BAd4—11—-1)]

BAlEH: 1H25H8 (K)

e 4 = BITEE
No. BT Z P WL im | 3L 5em #&
1 | E DM 0.09 0.11
2 |H&ERBO/NBE 0.08 0.11
3 | WGEEHEARET 0.08 0.07
4 | fEHEBPERET 0.09 0.10
5 | FEGHEE W 0.08 0.12
@ [BEMNHE (E¥E4—16—5)] BEH: 1A308 (A)
e = BITEE
No. BT S PT WL im | HE5em &%
1 | 77 %Rk 0.08 0.09
2 | FEETe < IF OARBMIE 0.10 0.11
3 | EEEEMHAT 0.08 0.08
4 | EE AT 0.08 0.08
5 |FEHBELVET 0.08 0.09

Q [RERBFEXZHEHHE (Fithik 3-4-5)]

BlEH: 28158 (K)

S I B
o L2 i BELin |®Lsm| T
1 | W — 0.10
2 | WGEITNAKET 0.10 0.11
3 | HAfEE AT HE 0.09 0.10
4 | FE{AAEE L B 0.10 0.13
5 | ZBRI/KERRAKE T 0.10 0.14
6 |[HBVET 0.09 0.14
@ [t DAHHE (Gh4-2-10)] BIEB: 2818 (K)
e 12 = BIEE
o s ®Lin |®Lsam| T
1| W — 0.09
2 | Gz AMaRE 0.08 0.08
3 | BBEWSGH 0.07 0.09
4 |HBVEEYI7eT 0.08 0.13
5 |EUDOKTF 0.09 0.14
6 | N1 TEY 0.07 0.10
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® [T oHHE GhERAH 4-4-11)]

BlEH: 1A31H ()

1 = BIEE
No. BT 5 WL i | 3L 5em #&
1 |#|YET 0.07 0.10
2 | TALF I O0ET 0.08 0.13
3 | FEkEALTE A 0.07 0.08
4 | LEVOAREIG 0.08 0.13
5 | FEEAKER] 0.07 0.08
6 | XA T e 0.09 0.14
® [H#T 7 as#E (HIAHNa1-25-1)] BFEH: 28228 (K)
S BITEE
No. B E ZPr WEim | L5 om "5
1 |5 — 0.09
2 | #kEBET 0.07 0.06
3 | EEpEF 0.09 0.13
4 |FEFHBVET 0.08 0.10
5 |[BYVAET 0.08 0.08
6 | = E3EEEM 0.06 0.07
7 | B EEEEA 0.06 0.06
@ [ZEmR&H#E (BB 1-5-1)] BIEB: 28288 (K)
4 = BIEE
No. B ST WL | ®E5em S
1 | &< BHHATRAKE 0.08 0.13
2 | JH 0.09 0.08
3 | R A i B 0.09 0.11
4 @BV AELE 0.09 0.08
5 [WEVEWUT 0.09 0.12
6 | IEFHIFY A T — 0.09
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Unstsh#E (BB 2-20-24)] #HlEBH: 28278 (A)
e 4 = I 8
o g i ®Lin |®Lsm| T
1 | EPH AR 0.09 0.10
2 | B BESE ARAR T 0.08 0.08
3 | FEEMAINENT 0.10 0.20
4 | EEEH I 0.10 0.12
5 |5 — 0.09
6 | FDRAE E 0.09 0.11
O [BEE%#E (BEA2-38-4)] BIEB: 2A28H (X
N BITEE
o il WELin |®Lsm| T
1| R 0.06 0.07
2 | FEERREE K E T 0.08 0.12
3 | EEFREAKET 0.08 0.12
4 | FEFREET 0.07 0.11
5 | KG 0.06 0.07
6 | — 0.07
O [FExEH#E (Ba3-17-11)] HAEH: 28278 (A)
4 = BIEE
o L L ®Lin |®Lsm| T
1| W — 0.09
2 | AT a—F— 0.10 0.17
3 | FTEIL - AVAAT AT 0.07 0.09
4 | A = oe AR 0.07 0.12
5 | H PRI 0.09 0.09
6 |1BVET 0.08 0.10
O [BLow#E (BB5-7-6)] BIEH: 3A7H (K)
12 = BIEE
No. LU tht im | #ht 5cm L
1 |5 — 0.08
2 | WEERE RN 0.08 0.07
3 | B FRARE A A 0.09 0.09
4 |[WEVET 0.08 0.10
5 |FELoWwvETF 0.08 0.11
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@ [HEARHHEE (KK 1-8-1)]

HER: 3A6H (K)

1 = BIEE
o p2 il ®Lin |®Lsm| T
1 | EEM@Br T 0.09 0.13
2 |HBVET 0.07 0.11
3 | Wi — 0.08
4 | RE=EAITRNAKO 0.09 0.11
5 | b 0.07 0.09
@ [E/NR M) v HHE (KB 1-28-22)] BIER: 28218 ()
1 = I B
o il ®Erin |®Lsm| T
1| 3B A P 0.08 0.08
2 | WEHMp A 0.08 0.08
3 | EEEH 0.07 0.08
4 | g 0.09 0.10
5 | — 0.09
6 |FEELEY AT 0.09 0.09
7| WG KERE T 0.08 0.08
8 |dufafEERi= 2 U — FEINA 0.08 0.09
(EBs#E (KRG 4-36-1)] BIEB: 2A138 (A)
42 = I B
o il WLin |®Lsm| T
1| IEFTATAE 0.08 0.08
2 |FIFEFHEVET 0.08 0.09
3 | A— e 0.08 0.09
4 | W5 — 0.07
5 | B INKET 0.08 0.08
@ [EZRTHHE (EH71-43-15)] BIEB : 2A8H (/K)
12 = I B
No. Ei el itk 1m | #hE5cm =
1 |#®YET 0.07 0.08
2 | AFavoRBET 0.06 0.07
3 | AOREAEHE 0.08 0.10
4 | #ET 0.06 0.07
5 | 3F¥EERITRAET 0.08 0.08
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(Ems#E (FW3-6-7))] BIEB: 38128 (A)

1 = I E 8
No. /E\“}Eiﬁf'ﬁ' fH_",J: m fH_'J,J: 5 om ﬁlﬁ:%
1| FEEAH R 0.09 0.09
2 | Wi — 0.10
3 |V BEREEN 0.09 0.11
4 | fE¥E 0.09 0.11
5 | Wk E =M 0.08 0.11
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<BlIEE> B w4902 —AXN)L kb /BRE)

1. RiL
D [BPAE=FREE EA2—2-3)] HFEH: 1H258 (K)
. _ B EE
No. B E ISP
- WEin |#Eson| 70
1 |77 apthramT 0.10 0.11
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